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Objective : Multiplying algebraic expressions
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Multiplying Algebraic Expressions

Distributive Law Z;:‘);)\ ol
The distributive Iavlfor real numbers states that

a(bxc)=ab+x ac

(a £ b)c = ac = bc

for any real numbers a, b, and c.
£ -2 =[2x=¢)

Quick Example /

2(x — 3) is not equal to 2x — 3 but is equal to
2x — 2(3) = 2x — 6.
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Expand the following:

1. &(3+t)d3arak] 4. J(@x+5)=|3X+\0)
2. 2(At—3k)-[gt-6K])5. 2(Bx-4)- (éx-38)
3. 5(n+3pP)5,,15p)6- 6/(7"*3)—_5% +\3 )




% Expanding Two Brackets

Corbett
maoths

To expand two brackets... use FOIL

AN
Expand: (x + 3)(x - 7)
' A
=x%-7x+3x-21
= x° -4x - 21

First
Quter
Inner
Last
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( Expanding Brackets - Example
Expand the Binomial: (im + 4) (m + 1)

g >

mXxXm-+-mx1 + 4 xm+4x1

-~ ~~ N
(Im+4)(m+ 1) =
. 7

— 2 Simplify by Combining
= m 5 B 4 the Like Term items.

=m?® +5m+ 4/



Using the distributive property to find the product of two binomials.

e

Simplify: (x-6) (4x + 3)
—— Pl

\‘_\‘\_{e/—\—e(mg
4x? & 3x -24x >-18

Ax?% -21x-18




Bampké’ Expané/ and §{mp///giz

Linking Method - FOIL

FOIL stands for:
F - First (x+2) 5?3_.—_1.4)

O - Outside

| - Inside
el 1o (23 [y




Expanding Brackets

ed)’

Video Tut: ‘Expanding Double Brackets (Advanc

(5x + 2)
e e
(5x +2)(5x + 2)

<

25x° +10x+10x + 4
25x° +20x+ 4

Expand and simplify...



Expand and SlmP\l‘(éi_,%
@ (X—i)(3X+\l):

@ Gm )B4+ m)C

3 &)—8}1‘:

1

@ (n+lo) =

answév



ﬁ/Expomd and S»mp\:%‘_ﬂ, 41 cnswer

X=2)(3x+M) = 35 +4YXK =3 XY
TS - - Bx X -u]

@ (7mré&5§")‘a:m+?m +\5+25m
= (2éra + Fm'+\5 )




ﬁ/ExpomA and S’rmp\f%r_)t, 41 cnswer

Hb-8) = Qa@)

VYV Rp-Bo+ 64
b — 3 1

‘;Qo’\jé/\o - 6“‘/\
———

@ iol‘- O + 10
(Ve 20) = (ol v To)

-~ N4 0N T g T A OO

= @-On + 400 )
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Special Binomial Products to
Memorize

When a binomial is squared, the result is always a
“perfect square trinomial”

(a+ b)?2=a?2+ 2ab + b?

(a—b)?2=a?—2ab + b?

Both of these can be summarized as a formula:
— Square the firstterm

s Multipl@imes firstterm times term
— Square the lastterm

= 9x® &k 12x 44
@‘— S~= 16x"—40x +25



>(S§uare of a Sum o= TF

The square of (a + b) is equal to the square of the first
term (a), plus twice the product of the first and second
terms (a, b), plus the square of the second term (b).

@ (a + b)? = a* + 2ab + b?

(a+ b)(a+ b)

(a)(a) + (a)(b) + (b)(a) + (b)(b)
a’ + 2ab + b*




0 (k+5)

(e
+ b))
=
—_— ﬂz +
2
alr 4
bl

( (a+b) ="+ 2ab
3+ 5) = )
30"+ (2x 3k x 5)
+(5)

=0k
+30k+ 25



o (yﬂ+3)2

(a+D) =a"+ 2ab+ b ;ELW gl
1+ =) +2xyx3)+3 1=y, b=3
=yd t Byg +9 b



2_ ;
O (a— b)Y =a” — 2ab + b~
SC‘\QCHC’. o(; A A\\QYQ(Q(Q(\CQ é}\‘tﬁ
(a-b)* = a+ (~)]*= (@)" + 2a)(~b) + () :
>

=a'-2ab+ b’
L



0 -2
(a=b)' =a’-2ab+ b’

(2h-2)"=(2h) = (2 x 2h x 2) + (2)
=4h" - 4hz+ 7

0 6-5°)
(a=b)" =a - 2ab + b’

(6-5y")"= (6)" - (2x6x5y")+(5y°)

=36 - 60y” + 25)"
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What is the area of the following shape?

a) x2+ 25 c) 4x+ 20
xZ+ 10x + 25 d) notenough info
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(a+b)(a-b)=a"-b" :jgapls s
Sum * difference
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0 (2c+3)(2c-3)

(@+h)(a-b) =@’ - b et Gl § gl yut 0 1004

(20+3)(2c-3) = (20) -3 a=26b=3 5l

= 4¢% -9 b



0 (&'+d) (& -d)
(a+b)(a-b)=a* - b o ot 0
(4" + d°)(4x* -d°) = (4)* - (&) a=y,b=3

=16x' -d" b



Determine whether this statement is true or false,
explain your answer

>\ /
2 ; t L =

Think.. | @Gx—4F=9x2—12x+16  (g-b)- d _2ab+b
\ %

FQ\§€)
(3%-N) = (3X) - 243X+ 4 + M)

—{le‘__ 24 X + E‘)







